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Y=245 (dx=-1.8e-01, do=2.9e-01)

f=1304, X=4014.6

Y=491 (dx=2.0e-02, do=4.4e-02)

e Residual*s
= Trace

pfsArm pfsArm
| = (x=4013.24,0=123) 1 = (x=4011.81, 0=1.18)

- 1 calExp calExp
= (x=4013.06, 0=1.52) = (x=4011.83, 0=1.22)

e Residual*5
== Trace

i Trace

- — — I u - — p—
- f——
al AL
T T T T =
Y=1228 (dx=-1.0e-01, do=3.6e-02) Y=1473 (dx=-7.7e-02, do=-2.4e-02)
I pfsArm I pfsArm
1 = (x=4009.78, 0=1.16) 1 = (x=4009.77, 0=1.16)
calExp _ 1 calExp
T = (x=4009.68, 0=1.20) = (x=4009.70, 0=1.14)
= Residual*5 = Residual*5

w— Trace

Y=2210 (dx=-1.2e-01, do=-5.3e-02)

Y=2456 (dx=-2.8e-02, do=-3.8e-02)

e Residual*5
w— Trace

- I pfsArm pfsArm
| ™ (x=401123,0=118) | = (x=401222,0=118)

1 calExp 1 calExp
—(x=4011.11, 0=1.13) —(x=4012.19, 0=1.15)

e Residual*5

Y=3193 (dx=-6.2e-03, do=-2.7e-02)

Y=3439 (dx=7.9e-02, do=-6.2e-04)

T pfsArm
1 = (x=4016.91, 0=1.19)

| calExp

= (x=4016.91, 0=1.17)
-1 = Residual*5
= Trace

pfsArm
| ™ (x=4019.15, 0=1.19)

I calExp

= (x=4019.23, 0=1.19)
e Residual*5

= Trace

4010 4020 4030

4010 4020 4030

Y=736 (dx=-9.8e-02, do=-3.4e-02)

pfsArm
1 == (x=4010.76, 0=1.18)
1 calExp

= (x=4010.66, 0=1.14)
m— Residual*s
== Trace

Y=1719 (dx=-1.3e-01, do=-5.2e-02)

pfsArm
I = (x=4010.01, 0=1.17)
calExp
= (x=4009.88, 0=1.12)
e Residual*5
- Trace

Y=2702 (dx=4.4e-03, do=-6.8e-02)

I pfsArm
| ™ (x=4013.44,0=120)

- 1 calEx|

p
= (x=4013.45, 0=1.14)
e Residual*s

= Trace

Y=3684 (dx=1.7e-01, do=7.4e-02)

pfsArm
1 = (x=4021.91, 0=1.19)

calExp
—(x=4022.07, 0=1.27)
e Residual*s
= Trace

4010 4020 4030

Y=982 (dx=-1.8e-01, do=2.5e-02)

T pfsArm
I = (x=4010.07, 0=1.19)
_ 1 calExp
= (x=4009.89, 0=1.21)
I e Residual*5
= Trace

Y=1965 (dx=-9.9e-02, do=-5.0e-02)

pfsArm
| ™ (x=4010.46, 0=122)

calExp

= (x=4010.36, 0=1.17)
e Residual*5

= Trace

Y=2947 (dx=-7.0e-02, do=-5.0e-02)

I pfsArm
1 = (x=4015.03, 0=1.19)
calEx
= (x=4014.96, 0=1.14)

e Residual*5
. == Trace

Y=3930 (dx=3.3e-01, do=1.5e-01)

pfsArm
| ™ (x=402520,0=1.19)

calExp
== (x=4025.53, 0=1.34)
m— Residual*s
- Trace

4010 4020 4030 4040
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Y=245 (dx=1.3e-01, do=6.4e-02)

f=1313, X=3958.6

Y=491 (dx=-1.2e-01, do=4.6e-02)

pfsArm
= (x=3957.06, 0=1.14)

calExp
= (x=3957.18, 0=121)

e Residual*s
= Trace

T pfsArm
1 = (x=3955.69, 0=1.14)

calExp
- (x=3955.57, 0=1.19)

e Residual*5
== Trace

Y=1228 (dx=-6.0e-02, do=-2.8e-02)

Y=1473 (dx=-1.8e-02, do=-4.0e-02)

pfsArm
| ™ (x=3953.84,0=1.14)
calExp
= (x=3953.78, 0=1.11)
= Residual*5
= Trace

T pfsArm
| ™ (x=3953.85,0=1.14)
calExp
= (x=3953.83, 0=1.10)
= Residual*5
= Trace

Y=2210 (dx=-3.3e-02, do=4.7e-03)

Y=2456 (dx=-1.9e-02, do=-3.1e-02)

m—(x=3955.28, 0=1.15)
= Residual*5
- Trace

I pfsArm pfsArm
I = (x=3955.32,0=115) | ™ (x=3956.28, 0=115)

- 1 calExp - 1 calExp
m—(x=3956.26, 0=1.12)

e Residual*5
= Trace

Y=3193 (dx=-1.6e-03, do=-2.4e-02)

Y=3439 (dx=1.0e-01, do=1.4e-02)

T pfsArm
1 = (x=3960.82, 0=1.16)

| calExp
- = (x=3960.82, 0=1.14)
e Residual*5
| Trace

pfsArm
| ™ (x=3963.00, 0=1.16)

calExp

(x=3963.11, 0=1.17)
e Residual*5
= Trace

3950 3960 3970

3950 3960 3970

Y=736 (dx=-1.1e-01, do=2.5e-03)
T

pfsArm
1 = (x=3954.71, 0=1.14)
1 calExp

= (x=3954.60, 0=1.14)
_ m— Residual*s
== Trace

pfsArm
= (x=3954.10, 0=1.14)

calExp
= (x=3954.04, 0=1.13)
= Residual*5

== Trace

it
Y=2702 (dx=-2.4e-02, do=-2.3e-02)

pfsArm

. | ™ (x=3957.49, 0=1.16)
1 calExp
= (x=3957.46, 0=1.13)

e Residual*s
== Trace

1
Y=3684 (dx=1.4e-01, do=3.6e-02)

pfsArm
= (x=3965.67, 0=1.16)

calExp
= (x=3965.81, 0=1.20)
e Residual*s
= Trace

3950 3960 3970 3980

Y=982 (dx=-7.1e-02, do=-7.9e-04)

T pfsArm
| ™ (x=3954.09, 0=1.14)
1 calExp

= (x=3954.02, 0=1.14)

e Residual*5
== Trace

Y=1965 (dx=-4.3e-02, do=-2.7e-02)

I pfsArm
1 = (x=3954.62, 0=1.15)
1 calExp

= (x=3954.58, 0=1.12)

e Residual*5
= Trace

Y=2947 (dx=1.6e-02, do=-2.2e-02)

pfsArm
1 = (x=3958.99, 0=1.16)
1 calExp

= (x=3959.01, 0=1.14)

e Residual*5

- Trace

1

Y=3930 (dx=2.1e-01, do=1.2e-01)

T pfsArm
1 = (x=3968.88, 0=1.16)

calExp

(x=3969.10, 0=1.28)
e Residual*5
== Trace

3960 3970 3980
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Y=245 (dx=-1.7e-02, do=8.4e-03)

f=1316, X=3939.5

Y=491 (dx=-6.0e-02, do=3.7e-03)

pfsArm
| ™ (x=3938.15,0=110)

1 calExp
= (x=3938.13, 0=1.11)

e Residual*s
= Trace

T pfsArm
| ™ (x=3936.76,0=1.12)
1 calExp
= (x=3936.70, 0=1.12)
= Residual*5
== Trace

Y=1228 (dx=-5.7e-02, do=-5.3e-03)

Y=1473 (dx=-1.4e-02, do=-3.4e-02)

e Residual*5
= Trace

T fsArm - T pfsArm
1 = (x=3935.02, 0=1.10) 1 = (x=3935.04, 0=1.11)
1 calExp 1 calExp

= (x=3934.97, 0=1.10) = (x=3935.03, 0=1.07)

e Residual*5
= Trace

Y=2210 (dx=-4.2e-02, do=-2.9e-02)

1
Y=2456 (dx=-7.8e-03, do=-5.3e-02)

pfsArm
| =™ (x=3936.50, 0=1.13)
1 calExp

= (x=3936.45, 0=1.10)
= Residual*5
- Trace

I pfsArm
- | = (x=3937.45,0=114)

calExp
= (x=3937.44, 0=1.08)

e Residual*5

Y=3193 (dx=-2.2e-02, do=3.6e-03)

Y=3439 (dx=5.4e-02, do=2.3e-02)

e Residual*5
| Trace

T pfsArm T pfsArm
1 = (x=3941.98, 0=1.14) n 1 = (x=3944.13, 0=1.14)

- | calExp calExp
= (x=3941.96, 0=1.14) = (x=3944.19, 0=1.16)

e Residual*5
= Trace

3930 3940 3950

3930 3940 3950

Y=736 (dx=-7.1e-02, do=-1.6e-02)
T

pfsArm

- 1 = (x=3935.87, 0=1.10)
1 calExp

= (x=3935.80, 0=1.08)

= Residual*5
== Trace

Y=1719 (dx=-5.0e-02, do=-2.5e-02)

pfsArm
| ™ (x=393529,0=1.12)

calExp
= (x=3935.24, 0=1.09)
= Residual*5

== Trace

Y=2702 (dx=-2.2e-02, do=-2.9e-02)

pfsArm
| = (x=3938.65, 0=1.15)

- 1 calExp
m—(x=3938.63, 0=1.12)

e Residual*s
== Trace

1
Y=3684 (dx=5.8e-02, do=6.2e-02)
4 T pfsArm
| = (x=3946.71, 0=1.16)
l — (cff;gpzse.n, 0=1.22)

e Residual*s
= Trace

3960 3930 3940 3950 3960

E 1 calExp

- == Trace

Y=982 (dx=-8.6e-02, do=-1.3e-02)

pfsArm
= (x=3935.26, 0=1.11)
calExp
= (x=3935.18, 0=1.09)
— Residual*s
== Trace

Y=1965 (dx=-6.4e-02, do=-3.8e-02)

pfsArm
| ™ (x=393576,0=113)
calExp
= (x=3935.70, 0=1.10)
e Residual*5
= Trace

Y=2947 (dx=-3.3e-02, do=-1.9e-02)

I pfsArm
1 = (x=3940.16, 0=1.14)

(x=3940.12, 0=1.12)
e Residual*5
== Trace

1
Y=3930 (dx=6.3e-02, do=1.2e-01)
T pfsArm
| ™ (x=3949.85 0=121)
I — (cf‘:E;QDAQ.Ql, 0=1.33)

e Residual*5

3940 3950 3960
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Y=245 (dx=-1.0e-01, do=6.6e-02)

f=1328, X=3864.4

Y=491 (dx=-7.8e-02, do=-1.5e-02)

e Residual*s
= Trace

pfsArm pfsArm
1 = (x=3863.10, 0=1.15) | = (x=3861.84,0=116)
1 calExp 1 calExp
= (x=3863.00, 0=1.22) = (x=3861.76, 0=1.15)

e Residual*5

Y=1228 (dx=-8.0e-02, do=-1.6e-02)

Y=1473 (dx=5.0e-03, do=-1.3e-02)

e Residual*5
= Trace

I pfsArm I pfsArm
1 = (x=3860.33, 0=1.15) 1 = (x=3860.38, 0=1.15)
1 calExp 1 calExp

= (x=3860.25, 0=1.13) = (x=3860.38, 0=1.14)

Y=2210 (dx=-2.6e-03, do=1.3e-04)

Y=2456 (dx=7.2e-03, do=-7.9e-03)

e Residual*5
w— Trace

pfsArm I pfsArm
| = (x=3861.84,0=1.15) | ™ (x=3862.76,0=1.16)

- 1 calExp 1 calExp
= (x=3861.83, 0=1.15) = (x=3862.77, 0=1.15)

e Residual*5
= Trace

e Residual*5
| Trace

1 1
Y=3193 (dx=-1.9e-02, do=-3.7e-03) Y=3439 (dx=-2.7e-02, do=2.0e-02)
T pfsArm T pfsArm
| = (x=3867.04, 0=1.16) 1 = (x=3869.16, 0=1.16)
= I r— (CEI:E;BPETOZ, 0=1.15) I — (c:I:E;SpEQ 13, 0=1.18)

e Residual*5
= Trace

3850 3860 3870 3880

3860 3870 3880

Y=736 (dx=-1.3e-01, do=1.6e-02)

pfsArm
| ™ (x=3860.99, 0=1.17)

calExp
= (x=3860.86, 0=1.18)
- m— Residual*s
== Trace

Y=1719 (dx=-3.5e-02, do=1.3e-02)

1 T fsArm
| ™ (x=3860.64, 0=1.15)
1 calExp
. = (x=3860.61, 0=1.17)

e Residual*5
= Trace

Y=2702 (dx=-2.3e-02, do=-2.8e-02)

pfsArm
| ™ (x=3863.92,0=1.16)

. 1 calExp
= (x=3863.89, 0=1.13)

e Residual*s

Y=3684 (dx=-3.9e-02, do=5.8e-02)

i T pfsArm
| ™ (x=387162,0=116)

| calExp
= (x=3871.58, 0=122)

e Residual*s

3860 3870 3880

Y=982 (dx=-1.1e-01, do=-4.0e-03)
T

pfsArm
| ™ (x=3860.52, 0=1.16)

1 calExp
-1 = (x=3860.41, 0=1.15)

e Residual*5
== Trace

Y=1965 (dx=-3.4e-02, do=9.9e-04)

I pfsArm
1 = (x=3861.17, 0=1.15)

- 1 calExp
= (x=3861.13, 0=1.15)

e Residual*5
= Trace

1
Y=2947 (dx=-2.7e-02, do=-7.5e-03)
I pfsArm
1 = (x=3865.36, 0=1.15)
i 1 calExp

— (x=3865.33, 0=1.15)
e Residual*5
- Trace

Y=3930 (dx=3.7e-02, do=7.2e-02)

pfsArm
| = (x=3874.65 0=1.16)

calExp
= (x=3874.69, 0=123)
m—Residual*s
- Trace

3860 3870 3880 3890
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Y=245 (dx=-9.5e-03, do=2.1e-02)

f=1494, X=2836.5

Y=491 (dx=4.2e-03, do=-3.7e-03)

pfsArm

| = x=2833.91,0=116)
calExp

= (x=2833.90, 0=1.19)

w— Residual*5

= Trace

T pfsArm
| ™ (x=2833.86,0=117)

1 calExp
= (x=2833.87, 0=1.17)

Y=736 (dx=9.4e-03, do=-8.2e-03)

1
Y=1228 (dx=4.5e-02, do=-3.3e-02)

Y=1473 (dx=2.9e-02, do=1.0e-02)

T pfsArm
| ™ (x=2833.89, 0=1.18)

1 calExp
= (x=2833.90, 0=1.18)

m—— Residual*5

Y=982 (dx=2.7e-02, do=-1.5e-02)

pfsArm
| = (x=283428,0=1.11)

1 calExp
= (x=2834.33, 0=1.08)

w—— Residual*5

= Trace

pfsArm
| ™ (x=2834.54,0=113)

calExp
= (x=2834.57, 0=1.14)
m— Residual*5

1
Y=1719 (dx=5.0e-02, do=-5.9e-03)

pfsArm
1 = (x=2834.10, 0=1.11)

1 calExp
= (x=2834.12, 0=1.10)

= Residual*5

T fsArm
| ™ (x=2834.83,0=1.18)

1 calExp
— (x=2834.88, 0=1.17)

e Residual*5

== Trace

Y=1965 (dx=4.9e-02, do=1.4e-02)

1 1

Y=2210 (dx=6.9e-02, do=-9.4e-03) Y=2456 (dx=6.0e-02, do=3.3e-03)
I pfsArm pfsArm
| ™ (x=283574,0=115) | ™ (x=2836.34,0=1.10)
I e r— ((:LE;BPBG 40, 0=1.11)

m—(x=2835.81, 0=1.14)
m—— Residual*5
w— Trace

m— Residual*5
= Trace

1
Y=2702 (dx=4.8e-02, do=3.4e-03)

pfsArm
| = (x=2835.32,0=1.11)

calExp
= (x=2835.36, 0=1.12)
m—Residual*5

Y=3193 (dx=4.8e-02, do=-1.3e-02)

Y=3439 (dx=4.3e-02, do=-1.5e-02)

I pfsArm
| = (x=2836.89, 0=1.18)

calExp
m—(x=2836.94, 0=1.18)
m——Residual*5

= Trace

1
Y=2947 (dx=3.3e-02, do=7.6e-03)

pfsArm
= (x=2838.47, 0=1.11)

T
calExp

= (x=2838.52, 0=1.10)

w— Residual*5

pfsArm
— (x=2839.39, 0=1.11)

calExp
= (x=2839.43, 0=1.09)
m— Residual*s

Y=3684 (dx=1.6e-02, do=-7.5e-03)

I pfsArm
| ™ x=2837.65,0=112)
calEx|

= (x=2837.68, 0=1.13)
m——Residual*5
== Trace

2830 2840 2850

2830 2840 2850

pfsArm
= (x=2840.42, 0=1.11)

calExp
= (x=2840.44, 0=1.10)
m—Residual*5

Y=3930 (dx=2.6e-02, do=3.3e-02)

2830 2840 2850

pfsArm
| = (x=2841.62, 0=1.12)

calExp
= (x=2841.64, 0=1.15)
m—Residual*5
- Trace

2830 2840 2850
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calexp Residual Chi

6 v

4000 4000

- 1750 - 60

I‘I

fifoamnag

3500 T - = - 3500
- 1500 | - 40 e ==

3000 1 e 3000
1250 [ — 20 BESE

2500 . = =[E- 3 - 2500
1000 0 § i

ix)

i ey
III|||I||lI Wi

a == —
< 2000 1 :; 5 s == . 2000
750 SF r-20 L = [E
=1= F = 8- =
1500 1 == e = : 1500
500 =f= - —40 == =F
1000 { =F == = . 1000
250 —60 =
500 1 1 I 500
Q250 =880 — -6 0

2800 2810 2800 2810 2800 2810
X (pix) Chi+ - Chi- Chi at each row



Y=245 (dx=-1.5e-04, do=8.0e-02)

f=1499, X=2805.6

Y=491 (dx=2.8e-02, do=5.3e-03)

Y=736 (dx=-3.1e-03, do=-9.2e-03)

Y=982 (dx=1.4e-02, do=-3.7e-03)

T pfsArm
1 = (x=2803.10, 0=1.11)
calExp
= (x=2803.10, 0=1.19)

w— Residual*5
= Trace

T pfsArm
1 = (x=2803.08, 0=1.11)

1 calExp
= (x=2803.11, 0=1.11)

m— Residual*5
== Trace

pfsArm
1 = (x=2803.12, 0=1.11)
1 calExp
= (x=2803.12, 0=1.10)

m—— Residual*5
== Trace

T pfsArm
1 = (x=2803.24, 0=1.11)

1 calExp
= (x=2803.25, 0=1.10)

= Residual*5
== Trace

Y=1719 (dx=5.4e-02, do=1.1e-02)

Y=1965 (dx=5.9e-02, do=-1.4e-02)

1
Y=1228 (dx=2.7e-02, do=-4.3e-03) Y=1473 (dx=5.7e-02, do=1.1e-03)
T
| zs:Arg[‘B.Ai, 0=1.11) | ?Ii/;rg:)3 70, 0=1.11)
I = (C:LEZXBPUBAG, 0=1.10) I — (C:LE;BPDS]S, 0=1.11)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

I fsArm
1 = (x=2804.07, 0=1.10)
1 calExp

= (x=2804.13, 0=1.11)

m——Residual*5
= Trace

pfsArm
| ™ (x=2804.46,0=1.10)

1 calExp
= (x=2804.52, 0=1.09)
m—Residual*5

Y=2210 (dx=7.1e-02, do=-2.0e-03)

Y=2456 (dx=6.5e-02, do=-1.4e-02)

1
Y=2947 (dx=3.9e-02, do=-1.6e-02)

I pfsArm pfsArm
| = x=2804.91,0=111) | ™ (x=2805.47,0=1.10)
calExp 1 calExp
= (x=2804.98, 0=1.11) = (x=2805.53, 0=1.09)

m—— Residual*5
w— Trace

m— Residual*5

1

Y=2702 (dx=4.0e-02, do=-2.1e-02)
I pfsArm
1 = (x=2806.11, 0=1.09)
I r— (c:fzxgos.ls, 0=1.07)

m——Residual*5
== Trace

pfsArm
| ™ (x=2806.77,0=1.10)
1 calExp

= (x=2806.81, 0=1.09)
m——Residual*5
== Trace

Y=3193 (dx=2.7e-02, do=-3.0e-02)

1
Y=3439 (dx=2.2e-02, do=-6.2e-03)

Y=3684 (dx=3.6e-02, do=-1.9e-02)

Y=3930 (dx=2.2e-02, do=7.9e-03)

T pfsArm
| = (x=2807.56, 0=1.10)

| calExp

(x=2807.59, 0=1.07)
e Residual*5
| Trace

pfsArm
| ™ (x=2808.45,0=1.10)

calExp
= (x=2808.48, 0=1.09)
m— Residual*s

pfsArm
| ™ (x=2809.46, 0=1.10)

calExp
= (x=2809.49, 0=1.08)
m—Residual*5

pfsArm
| ™ (x=2810.62, 0=1.10)

calExp

(x=2810.65, 0=1.11)
m— Residual*5
== Trace
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f=1500, X=2799.4

Y=245 (dx=2.8e-01, do=2.0e-01) Y=491 (dx=-5.8e-02, do=-5.9e-02) Y=736 (dx=-1.5e-01, do=-2.9e-02) Y=982 (dx=2.1e-01, do=-1.7e-01)
pfsArm - pfsArm 7] T pfsArm 7 pfsArm T
1 L = (x=2795.63, 0=2.25) | = (x=2795.60, 0=2.24) 1 I = (x=2795.55,0=225) = (x=2797.28, 0=2.17) 1
T calExp. 1 calExp 1 calExp calExp
u L — (x=2795.91, 0=2.45) = (x=2795.55, 0=2.18) _ — (x=2795.39, 0=2.22) = &= 207, 49, 0=2.00)
H | — residuars I Residuars I Resiquars == Residual*s
J— 1 Trace l = Trace l == Trace w— Trace
1 - - 1 1

810 1l 1. 1 1 i

Y=1719 (dx=-1.8e-01, do=2. 1e02) Y=1965 (dx=-2.6e-02, do=-1.6e-01)

=

D
it
N
<
w
)
x
Il

N
0
®
o
=
Q
Q
Il

|

©
©
]
o.
N

pfsArm I 1 J ™ _ T T =
= (x=2797.18, 0=2.20) 1 B | (x=2796.50, 0=225) 1
calExp 1 = . 1 calExp 1
T = (x=2797.26, 0=2.15) = (x=2796.32, 0=227)
= Residual*s 1 7 n S I Residuars T 1
- Trace = I = Tace (x 2793 13, 0=2222) 1
1 — albxp
i | - ] 1 = (x=2798.10, 0=2.06)
T m— Residual*5
Tl (x 2796 88, 0=2.26) L
w—  Trace
Exp
— (x=2797.16, 0=2.16)
[ Qe S . I o —— . (osidaE - e e e . -] e - . -t ] R ]
= Trace
LIl r 1

Y=2210 (dx=2.2e-01, do=8.8e-02) Y=2456 (dx=2.6e-01, do=-1.8e-01) Y=2

T T T T T T
702 (dx=-3.6e-02, do=2.3e-02) Y=2947 (dx=-1.1e-01, do=-1.1e-01)
I pfsArm pfsArm I I pfsArm N pfsArm
| = x=2797.58,0=223) — (x=2799.10, 0=2.24) 1 | = (x=2798.35,0=225) — (x=2799.79, 0=2.22)
- 1 calExp. calExp. 1 1 calExp calEx
= (x=2797.80, 0=2.31) = (x=2799.37, 0=2.06) = (x=2798.31, 0=2.28) = (x=2799.68, 0=2.10)
I == Residual*5 = Residual*5 I a I === Residual*5 e Residual*5
I = Trace 1 - Trace ] | = Tace _ - Trace
1F 1 L|:| 1
1 —

J1AHH - - JHHd--FE43--4-4HH- { = o JUL_ JHH+ H- S
T 1 T
T T T T 1 T I T 1 T — A0 =
Y=3193 (dx=3.6e-01, do=-2.6e-01) Y=3439 (dx=-1.2e-01, do=4.1e-03) Y=3684 (dx=-9.5e-02, do=-1.5e-01) Y=3930 (dx=-3.0e-01, do=-1.6e-01)
- J T pfsArm pfsArm pfsArm T pfsArm
I [= (x=2801.00, 0=225) = (x=2802.12, 0=2.24) = (x=2803.13, 0=2.16) 1 i = (x=2804.02, 0=2.14)
| - calExp — calExp L calExp | _ L calExp
-1 (x=2801.35, 0=1.99) . (x=2802.00, 0=2.24) -1 (x=2803.03, 0=2.01) (x=2803.72, 0=1.98)
N e Residual*5 e Residual*s = Residual*5 I e Residual*5
- Trace - - Trace - Trace 1 - Trace
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Y=245 (dx=-2.5e-01, do=2.0e-01)

f=1518, X=2688.4

Y=491 (dx=5.7e-03, do=-9.4e-02)

Y=736 (dx=1.9e-02, do=-2.5e-02)

pfsArm T
= (x=2686.02, 0=1.35) 1

calExp 1
= (x=2686.04, 0=1.33)

e Residual*5
== Trace

Al |

Y=982 (dx=1.4e-01, do=-6.6e-02)

T T
1 J ] 1 FISAzrggs 28, 0=175) = :j;?zrgzss.zls, 0=1.62) 1 t
1 1| | celExp — clexp 1
1 (x=2685.04, 0=1.04) i (x=2685.46, 0=1.53)
-} s Residual*s m— Residual*5
= Trace w | Trace
. 1 1 E
] | T |
1 1 1
1 BHE-HEFH4- - 4 - L
1
T L T T T I T
Y=1228 (dx=7.2e-02, do=-8.7e-02) Y=1473 (dx=8.3e-02, do=-3.2e-02)
-1 pfsArm B I L
= (x=2686.30, 0=128) 1

calExp
= (x=2686.37, 0=1.19)
| == Residual*5
= Trace

pfsArm I
= (x=2686.48, 0=135) 1
calExp 1
= (x=2686.56, 0=1.32)
= Residual*5
= Trace
|-| =

'Y=1719 (d'x=2.0e-02,'da=3.7e-o'2)

pfsArm
1 = (x=2686.12, 0=1.43)
calExp
_(x= 2686 26, 0=1.36)
m—Residual*5
== Trace

il

Y=2456 (dx=9.2e-02, do=-4.6e-02)

pfsArm T
= (x 2686.60, 0=1.54) 1

— (x:zsas,az, 0=1.57)
= Residual*5
== Trace

7| === Residual*5

T pfsArm
== (x=2687.62, 0=1.35)

calExp
(x=2687.64, 0=1.35)

e Residual*5

= Trace

Y=2702 (dx=6.6e-02, do=-1.6e-02)

pfsArm
T (x=2687 30, 0=1.31) 1

calExp
= (x=2687.38, 0=1.22)

w— Trace

ﬁ}%

pfsArm T
—(x=2688.27,0=1.24) 1
calExp 1
= (x=2688.37, 0=1.19)
= Residual*5
- Trace

pfsArm
= (x=2688.67, 0=1.36)

calExp
—(x=2688.74, 0=1.34)
e Residual*s

w Trace

pfsArm
= (x=2690.20, 0=1.19) 1

calExp
= (x=2690.24,0=1.16)
= Residual*5
- Trace

pfsArm
1 = (x=2691.02, 0=1.17)

calExp
— (x=2691.04, 0=1.14)
= Residual*5
- Trace

pfsArm I
= (x=2689.44, 0=122) 1
calEx|

= (x=2689.48, 0=1.19)
e Residual*5
= Trace

&4

2680 2690 2700

1
2690

2680 2700

pfsArm

| ™ (x=2691.69, 0=1.36)
calExp

= (x=2691.71, 0=1.34)

e Residual*s
= Trace

2680 2690 2700

pfsArm
= (x=2692.70, 0=1.39)

calExp
m—(x=2692.73, 0=1.39)
= Residual*5
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Y=245 (dx=-7.3e-02, do=-1.6e-02)

f=1744, X=1364.9

Y=491 (dx=1.9e-02, do=-5.2e-03)

pfsArm pfsArm
| = (x=1363.65,0=1.10) 1 = (x=1364.18, 0=1.10)
T 1 calExp . 1 calExp
= (x=1363.58, 0=1.09) = (x=1364.20, 0=1.10)
s Residual*s m— Residual*s
- Trace l = Trace

U

Y=1228 (dx=-7.0e-02, do=-1.5€-02)

1
Y=1473 (dx=-4.6e-02, do=-2.2e-02)

e Residual*5
= Trace

I pfsArm pfsArm
1 = (x=1365.15, 0=1.10) 1 = (x=1365.34, 0=1.10)
1 calExp 1 calExp

- = (x=1365.08, 0=1.09) = (x=1365.30, 0=1.08)

e Residual*5
= Trace

Y=2210 (dx=-5.6e-02, do=-1.7e-02)

Y=2456 (dx=-6.3e-02, do=-1.3e-02)

1 pfsArm
| ™ (x=1365.60, 0=1.10)
1 calExp

= (x=1365.54, 0=1.08)
= Residual*5
- Trace

pfsArm
| ™ (x=1365.58, 0=1.10)

calExp
= (x=1365.52, 0=1.09)
e Residual*5
= Trace

Y=3193 (dx=-7.1e-02, do=7.4e-03)

Y=3439 (dx=-1.3e-02, do=-6.6e-03)

e Residual*5

. T pfsArm T T pfsArm
1 = (x=1365.15, 0=1.10) | = x=1364.79, 0=1.10)

| calExp | calExp
= (x=1365.08, 0=1.11) = (x=1364.77, 0=1.10)

e Residual*5
= Trace

1350 1360 1370 1380

1350 1360 1370 1380

Y=736 (dx=1.7e-02, do=-2.9e-02)

T pfsArm
| ™ (x=1364.55 0=1.10)

calExp
= (x=1364.57, 0=1.07)

e Residual*5

- == Trace

1
Y=1719 (dx=-6.9e-02, do=4.0e-03)

pfsArm
| ™ (x=1365.48,0=1.10)

1 calExp
= (x=1365.41, 0=1.10)
= Residual*5

-1 w Trace

Y=2702 (dx=-5.6e-02, do=1.0e-02)

- pfsArm
| ™ (x=136551,0=1.10)
1 calEx

m—(x=1365.45, 0=1.11)
e Residual*s

Y=3684 (dx=-9.9e-03, do=4.0e-04)

T pfsArm
| ™ (x=1364.3, 0=1.10)
| calExp

= (x=1364.35, 0=1.10)

e Residual*s

1350 1360 1370 1380

Y=982 (dx=-5.2e-02, do=-2.4e-02)

- T pfsArm
| ™ (x=1364.85,0=1.11)
1 calExp

= (x=1364.80, 0=1.09)

e Residual*5

Y=1965 (dx=-5.9e-02, do=-3.4e-02)

pfsArm
| ™ (x=1365.56, 0=1.10)

calExp
= (x=1365.50, 0=1.07)
e Residual*5

. - Trace

il
Y=2947 (dx=-4.3e-02, do=8.7e-03)

= I pfsArm
| ™ (x=1365.37,0=1.10)
1 calExp

= (x=1365.33, 0=1.11)
e Residual*5
- Trace

Y=3930 (dx=-9.6e-03, do=3.8e-02)

pfsArm
| ™ (x=1363.75, 0=1.10)

calExp
-1 = (x=1363.75, 0=1.14)
m—Residual*s
- Trace

1350 1360 1370
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Y=245 (dx=-2.0e-02, do=5.2e-02)

f=1797, X=1037.7

Y=491 (dx=-1.5e-05, do=6.0e-03)

= (x=1036.39, 0=1.17)
— Residual*s
- = Trace

pfsArm pfsArm
I = (x=1036.41,0=112) 1 = (x=1037.12, 0=1.13)
1 calExp calExp

= (x=1037.12, 0=1.13)
m— Residual*s
== Trace

Y=1228 (dx=-6.8e-02, do=-1.4e-03)

Y=1473 (dx=-6.4e-02, do=-1.5€-02)

pfsArm
| ™ (x=1038.39, 0=1.12)
T 1 calExp
= (x=1038.32, 0=1.12)
= Residual*5
= Trace

pfsArm
| ™ (x=1038.61,0=1.13)

1 calExp
= (x=1038.54, 0=1.11)
= Residual*5

Y=2210 (dx=-5.4e-02, do=-3.4e-03)

Y=2456 (dx=-6.8e-02, do=1.3e-02)

pfsArm - pfsArm
| ™ (x=103876, 0=1.15) | ™ (x=1038.64, 0=1.14)
1 calExp 1 calExp
= (x=1038.70, 0=1.15) = (x=1038.57, 0=1.15)
= Residual*5 == Residual*5
- - Trace - Trace

Y=3193 (dx=-5.1e-02, do=1.1e-02)

Y=3439 (dx=-3.2e-02, do=1.6e-02)

e Residual*5
| Trace

pfsArm T pfsArm
I = x=1037.64, 0=1.14) 1 = (x=1037.07, 0=1.12)
| calExp | calExp
= (x=1037.59, 0=1.15) = (x=1037.04, 0=1.14)

e Residual*5
. = Trace

1030 1040 1050

1030 1040 1050

Y=736 (dx=-6.2e-03, do=-3.6e-02)

T T pfsArm
| ™ (x=1037.63,0=1.13)

calExp
= (x=1037.63, 0=1.09)

= Residual*5
== Trace

Y=1719 (dx=-7.0e-02, do=3.2€-03)

I pfsArm
| ™ x=103874,0=114)

1 calExp
= (x=1038.67, 0=1.15)
- = Residual*5

w Trace

Y=2702 (dx=-5.1e-02, do=2.8e-02)

pfsArm

| ™ (x=1038.44,0=1.13)
1 calExp

= (x=1038.39, 0=1.16)

e Residual*s

Y=3684 (dx=-2.2e-02, do=3.8e-02)

T pfsArm
| ™ (x=1036.28 0=112)
| calExp

= (x=1036.26, 0=1.16)

e Residual*s
= Trace

1020 1030 1040 1050

Y=982 (dx=1.1e-02, do=-3.9e-03)
T

pfsArm
= (x=1038.09, 0=1.11)

1 calExp
= (x=1038.10, 0=1.11)

e Residual*5
== Trace

1
Y=1965 (dx=-6.4e-02, do=-1.9e-02)

pfsArm
| ™ (x=103879, 0=1.15)

calExp
= (x=1038.72, 0=1.13)
e Residual*5

. - Trace

Y=2947 (dx=-5.1e-02, do=1.9e-02)

1 I pfsArm
1 = (x=1038.13, 0=1.12)

1 calEx
= (x=1038.08, 0=1.14)

e Residual*5

Y=3930 (dx=-4.7e-03, do=4.5¢-02)

pfsArm
= (x=1035.28, 0=1.13)

calExp

(x=1035.27, 0=1.17)
e Residual*5
== Trace
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Y=245 (dx=5.0e-02, do=4.1e-02)

f=1800, X=1019.2

Y=491 (dx=-2.1e-02, do=-6.6e-03)

T pfsArm
1 = (x=1017.95, 0=1.11)
. 1 calExp

= (x=1018.00, 0=1.15)

e Residual*s
= Trace

pfsArm
(x=1018.63, 0=1.14)

calExp
= (x=1018.60, 0=1.13)
e Residual*s
= Trace

e Residual*5
= Trace

1
Y=1228 (dx=-3.2e-02, do=-5.1e-03) Y=1473 (dx=-7.2e-02, do=-2.9e-02)
I fsArm I pfsArm
1 = (x=1019.96, 0=1.11) 1 = (x=1020.18, 0=1.11)
- 1 calExp i 1 calExp
m— (x=1019.93, 0=1.10) m—(x=1020.11, 0=1.08)

e Residual*5
= Trace

e Residual*5
w— Trace

|

Y=2210 (dx=-6.6e-02, do=2.9e-03) Y=2456 (dx=-5.8e-02, do=-5.3e-03)
I pfsArm I pfsArm
| ™ (x=1020.34, 0=1.11) | = (x=102021,0=111)
1 — ((:I=E1X(')JZO.27, 0=1.11) -1 1 [ ((:I=E1x(?20 15, 0=1.11)

e Residual*5
= Trace

Y=3193 (dx=-6.3e-02, do=4.3e-02)

Y=3439 (dx=-5.6e-02, do=3.3e-02)

pfsArm
. | = (x=1019.17,0=111)

calExp

(x=1019.11, 0=1.16)
e Residual*5
| Trace

pfsArm
| = (x=1018.54, 0=1.11)

| calExp

= (x=1018.48, 0=1.15)
= Residual*5
- Trace

1010 1020 1030

1010 1020 1030

Y=736 (dx=-1.5e-02, do=6.1e-03)

pfsArm
| ™ (x=101920,0=1.11)
1 calExp

= (x=1019.18, 0=1.11)
m— Residual*s
== Trace

Y=1719 (dx=-8.7e-02, do=-5.9e-03)

pfsArm
| =™ (x=1020.32,0=1.11)

calExp
= (x=1020.23, 0=1.10)
= Residual*5

== Trace

Y=2702 (dx=-5.5e-02, do=3.6e-02)

T pfsArm
1 = (x=1019.99, 0=1.11)
1 calExp
= (x=1019.93, 0=1.15)
= Residual*5
- Trace

T

Y=3684 (dx=-3.1e-02, do=2.9e-02)

T pfsArm
| ™ x=1017.72,0=1.12)

calExp
= (x=1017.69, 0=1.15)
= Residual*5

- == Trace

1010 1020 1030

Y=982 (dx=-9.6e-03, do=-1.8e-02)
T

pfsArm
| ™ (x=1019.59, 0=1.11)
1 calExp
= (x=1019.58, 0=1.09)
m—_Residual*5
== Trace

T e ST

Y=1965 (dx=-6.7e-02, do=-5.8e-03)

pfsArm
| ™ (x=102037,0=1.11)

calExp
= (x=1020.31, 0=1.10)
e Residual*5

== Trace

Y=2947 (dx=-4.8e-02, do=2.6e-02)

I pfsArm
| ™ (x=1019.62, 0=1.12)
1 calExp

= (x=1019.57, 0=1.14)

e Residual*5
== Trace

Y=3930 (dx=-2.6e-03, do=1.0e-01)

pfsArm
| ™ (x=1016.70, 0=1.12)

| calExp

(x=1016.70, 0=1.22)
e Residual*5
== Trace

1000 1010 1020 1030
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Y=245 (dx=-8.0e-02, do=3.2e-02)

f=1806, X=981.9

Y=491 (dx=-2.3e-04, do=4.6e-03)

= (x=980.60, 0=1.15)
m—Residual*s

pfsArm pfsArm
1 = (x=980.68, 0=1.12) 1 = (x=981.44, 0=1.11)
1 calExp 1 calExp

= (x=981.44, 0=1.12)
s Residual*5
w | Trace

Y=1228 (dx=-3.3e-02, do=-1.7e-02)

Y=1473 (dx=-5.9e-02, do=-8.0e-03)

- I pfsArm I pfsArm
1 = (x=982.76, 0=1.12) 1 = (x=983.03, 0=1.11)

1 calExp -1 1 calExp
— (x=982.72, 0=1.10) = (x=982.98, 0=1.10)

m——Residual*5
= Trace

m—— Residual*5
= Trace

Y=2210 (dx=-6.5e-02, do=-1.9e-03)

Y=2456 (dx=-6.6e-02, do=-3.3e-03)

. = (x=983.11, 0=1.11)
m—Residual*5
= Trace

I pfsArm -1 I pfsArm
1 = (x=983.17, 0=1.11) 1 = (x=983.03, 0=1.12)
1 calExp 1 calExp

m—(x=982.96, 0=1.11)
m— Residual*5
w— Trace

Y=3193 (dx=-4.9e-02, do=-1.5e-02)

Y=3439 (dx=-4.0e-02, do=4.6e-03)

mm—Residual*5
= Trace

pfsArm pfsArm
1 = (x=981.88, 0=1.12) 1 = (x=98126, 0=1.12)
| calExp | calExp

. = (x=981.83, 0=1.10) T = (x=981.22, 0=1.12)

mm—Residual*5
= Trace

970 980 990

970 980 990

Y=736 (dx=-1.3e-02, do=-3.7e-02)

pfsArm
1 = (x=982.03, 0=1.11)
1 calExp

- = (x=982.01, 0=1.07)
w— Residual*5
= Trace

Y=1719 (dx=-8.2e-02, do=-7.4e-03)

I pfsArm
1 = (x=983.17, 0=1.11)
1 calExp

T = (x=983.09, 0=1.10)

m—— Residual*5
= Trace

Y=2702 (dx=-3.8e-02, do=-1.2e-02)

E I pfsArm
1 = (x=982.74, 0=1.12)
calExp
(x=982.71, 0=1.11)
mm— Residual*5
w— Trace

Y=3684 (dx=-2.8e-02, do=3.7e-03)

T pfsArm
= (x=980.41, 0=1.12)
| calExp
= (x=980.38, 0=1.12)
w— Residual*5
- Trace

970 980 990

Y=982 (dx=-4.1e-02, do=1.8e-04)
T

pfsArm
1 = (x=982.44, 0=1.11)
1 calExp

= (x=982.40, 0=1.11)
w— Residual*s
== Trace

Y=1965 (dx=-5.4e-02, do=-8.4e-03)

T I pfsArm
1 = (x=983.22, 0=1.11)
1 calExp

= (x=983.16, 0=1.10)
m— Residual*s
== Trace

Y=2947 (dx=-5.6e-02, do=-8.9e-03)

I pfsArm
1 = (x=982.40, 0=1.12)
I calEx|

- = (x=982.35, 0=1.11)
m— Residual*5
- Trace

Y=3930 (dx=-4.3e-02, do=3.7e-02)

pfsArm
= (x=979.33, 0=1.12)

calExp
- (x=979.29, 0=1.15)
m— Residual*5
= Trace

N

970 980 990
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Y=245 (dx=2.3e-02, do=7.8e-02)

f=1812, X=944.7

Y=491 (dx=3.1e-02, do=5.9e-03)

= (x=943.55, 0=1.20)
m—Residual*s

pfsArm pfsArm
1 = (x=943.53, 0=1.12) 1 = (x=944.31, 0=1.12)
calExp T 1 calExp

= (x=944.35, 0=1.12)
s Residual*5
w | Trace

Y=1228 (dx=-1.1e-02, do=-2.3e-02)

Y=1473 (dx=-1.9e-02, do=-2.3e-02)

= (x=945.66, 0=1.10)
mmResidual*5
== Trace

T pfsArm . T pfsArm
1 = (x=945.68, 0=1.12) 1 = (x=945.90, 0=1.13)
— 1 calExp 1 calExp

= (x=945.88, 0=1.10)
-1 w— Residual*5
= Trace

m—Residual*5
e = Trace

1

Y=2210 (dx=-6.8e-02, do=3.5e-03) Y=2456 (dx=-4.1e-02, do=2.3e-03)
I pfsArm — I pfsArm
1 = (x=946.08, 0=1.12) | ™ (x=945.88,0=1.13)
1 [ (C;‘:E;zﬁs 01, 0=1.12) 1 r— SI:EQXES.BA, 0=1.13)

m— Residual*5
w— Trace

Y=3193 (dx=-4.4e-02, do=-3.8e-04)

Y=3439 (dx=1.8e-03, do=-1.1e-03)

mm—Residual*5
= Trace

T T pfsArm - T pfsArm
1 - (x=944.71, 0=1.12) 1 = (x=944.06, 0=1.12)

| calExp | calExp
- (x=944.67, 0=1.12) = (x=944.06, 0=1.12)

m Residual*5
w— Trace

930 940 950 960

930 940 950 960

Y=736 (dx=4.3e-02, do=-3.5e-02)

T pfsArm
| =™ x=944.86,0=113)

1 calExp
T = (x=944.91, 0=1.09)

w— Residual*5

= Trace

1
Y=1719 (dx=-5.1e-02, do=-1.9e-02)

I pfsArm
1 = (x=946.09, 0=1.12)
1 calExp

= (x=946.04, 0=1.10)

m—— Residual*5
= Trace

1
Y=2702 (dx=-7.3e-02, do=1.1e-02)
N T
1 = F:5=A9r4m5.63,0=1.12)
1 calExp

m—(x=945.55, 0=1.13)
m—— Residual*5
| Trace

I

Y=3684 (dx=-1.5e-02, do=1.0e-02)
T
1 = ?xfsgfawa.w, 0=1.12)
| - (cxale;f&w, 0=1.13)

m—— Residual*5
w— Trace

930 940 950

Y=982 (dx=-3.5e-02, do=-2.0e-02)
- T

pfsArm
1 = (x=945.35, 0=1.12)
1 calExp

= (x=945.31, 0=1.10)
w— Residual*s
== Trace

1
Y=1965 (dx=-5.9e-02, do=-1.3e-04)

T pfsArm
1 = (x=946.13, 0=1.12)
1 calExp

= (x=946.07, 0=1.12)
m— Residual*s
== Trace

Y=2947 (dx=-4.6e-02, do=3.1e-03)

pfsArm
1 = (x=945.26, 0=1.12)
1 calExp

(x=945.22, 0=1.12)
m—— Residual*5
= Trace

Y=3930 (dx=1.0e-02, do=3.3e-02)

. T pfsArm
1 = (x=942.04, 0=1.12)

| calExp
= (x=942.05, 0=1.15)

N m— Residual*5
= Trace

930 940 950
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Y=245 (dx=3.5e-02, do=1.4e-02)

f=1876, X=548.6

Y=491 (dx=8.9e-02, do=1.1e-02)

pfsArm
1 = (x=547.02, 0=1.13)

calExp
= (x=547.05, 0=1.15)
m—Residual*5
== Trace

T pfsArm
1 = (x=548.22, 0=1.14)

calExp
= (x=548.31, 0=1.15)
s Residual*5
w | Trace

Y=1228 (dx=-1.8e-02, do=-3.2e-02)

Y=1473 (dx=2.2e-03, do=-4.6e-02)

= (x=550.28, 0=1.11)
mmResidual*5
== Trace

T pfsArm T pfsArm
1 = (x=550.30, 0=1.14) 1 = (x=550.61, 0=1.15)
1 calExp - calExp

= (x=550.61, 0=1.10)
w— Residual*5
= Trace

m—Residual*5
= Trace

- -
T |I T T |I T
Y=2210 (dx=-4.2e-03, do=-3.4e-02) Y=2456 (dx=-4.5e-02, do=-3.5e-02)
I pfsArm I pfsArm
1 = (x=550.65, 0=1.15) 1 = (x=550.37, 0=1.15)
| calExp — calExp
(x=550.65, 0=1.12) (x=550.33, 0=1.12)

m— Residual*5
w— Trace

pfsArm
= (x=548.39, 0=1.16)

calExp
= (x=548.38, 0=1.14)

mm—Residual*5

pfsArm
1 = (x=547.28, 0=1.15)

calExp
= (x=547.31, 0=1.13)

m Residual*5

540 550 560

540 550 560

Y=736 (dx=1.0e-01, do=-2.0e-02)
T

pfsArm
= (x=549.12, 0=1.13)
calExp
= (x=549.22, 0=1.11)
m— Residual*s
== Trace

Y=1719 (dx=-3.6e-03, do=-3.0e-02)
T

pfsArm
= (x=550.76, 0=1.15)
calExp
= (x=550.76, 0=1.12)
w— Residual*5
= Trace

Y=2702 (dx=-4.3e-02, do=-2.8e-02)

I pfsArm
| ™ (x=549.87, 0=1.15)

calExp
(x=549.82, 0=1.12)

m—— Residual*5
| Trace

Y=3684 (dx=2.6e-02, do=-4.6e-03)
T

pfsArm
= (x=545.81, 0=1.16)
calExp
= (x=545.84, 0=1.15)
w— Residual*5
- Trace

1
530 540 550 560

Y=982 (dx=3.6e-02, do=-2.0e-02)
T

pfsArm
| ™ (x=54976,0=115)

calExp
= (x=549.80, 0=1.13)

m— Residual*5

== Trace

1
Y=1965 (dx=-2.9e-03, do=-3.6e-02)

pfsArm
(x=550.78, 0=1.15)

calExp
= (x=550.78, 0=1.11)
m— Residual*5

== Trace

pfsArm
1 = (x=549.27, 0=1.15)

calExp
(x=549.26, 0=1.13)

m—— Residual*5

Y=3930 (dx=7.7e-02, do=4.8e-02)

pfsArm
= (x=544.04, 0=1.15)
calExp
= (x=544.12, 0=1.20)
m— Residual*5
- Trace

530 540 550 560
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Y=245 (dx=-2.8e-01, do=-5.9e-02)

f=1877, X=542.4

Y=491 (dx=-5.1e-01, do=-1.9e-02)

pfsArm
| =™ x=53879 0=210)

1 calExp
1 = x= 533 51, 0=2.04)

wm_Residual*5

pfsArm
= (x=541.79, 0=2.20)

calExp
_(x= ) 28, 0=2.18)
e Residual*5
== Trace

i

Y=1228 (dx=2.2e-02, do=-1.3e-01)

Y=1473 (dx=1. 2e- 01, do=3.4e- 03)

I pfsArm
1 = (x=543.66, 0=2.21)
1 calEx

_ (x= 543 68, 0=2.07)
I = Residual*5
== Trace

]'I--

An

pfsA
= (x=54322,0=221)

calEx
= x= 543 34, 0=221)
e Residual*s

== Trace

Y=2210 (dx

2.8e-01, do=-1.7e-01)

Y=2456 (dx—-l 9e 01, do=-1.5e- 01)

pfsArm
== (x=543.04, 0=2.18)

calExp
—(x=542.76, 0=2.01)

e Residual*5
== Trace

I

pfsArm
calExj

= Residual*s
== Trace

ha

= (x=543.43, 0=2.26)

p
= (x=543.24, 0=2.11)

r

LI

(dx=-2.6e-01,

do=-1.3e-01)

= Residual*5
| = Trace

pfsArm
= (x=541.44, 0=2.26)

calExp
= (x=541.33, 0=2.17)

pfsArm

mems Residual*s

== Trace

- T-

T
= (x=540.72, 0=2.21) a

calExp
(x=540.46, 0=2.08)

530

540

550

Y=736 (dx=-1.8e-01, do=-6.5e-02)
T
= ?;SAS% 37, 0=1.98) 1
by [— calExp l

(x=540.19, 0=1.92)

s Residual*5 1
= Trace l
. 1
1
1

Y=1719 (dx=-5.7e-02, do=-1.1e-01)

1 pfs;:n

=

= (x=542.88, 0=2.15)

calExp
- (x=542.82, 0=2.04)
e Residual*5

= | Trace

do=-5.6e-02)

Y=2702 (dx=-6.1e-02,
pfsArm
m—(x=541.54, 0=2.06)
- calExp

m—(x=541.47, 0=2.00)
= Residual*5
== Trace

=
-

_=I

Y=3684 (dx=-3.1e-01,

do—-l 8e-01)

pfsArm
= (x=537.69, 0=2.10)

calExp

(x=! 537 39, 0=1.92)
e Residual*5
= Trace

Y=982 (dx=-1.1e-01, do=-7.2e-02)

pfsArm
== (x=541.88, 0=2.18)

calExp
- (x=541.78, 0=2.11)
e Residual*5
== Trace

5t

‘%

Y=1965 (dx—-l 2e-01, do=-1.3e- 01)

pfsArm
= (x=54271, 0=2.13)
calExp
= (x=542.60, 0=2.00)
wem= Residual*s
== Trace

n T

Y=2947 (

dx=-1.7e-01, do=-7.0e-02)

)

pfsArm
= (x=542.65, 0=2.29)

calExp
—(x=542.47, 0=2.22)
e Residual*5
- Trace

o

Y

'3.3

3930 (dX—-2 6e-01, do=-5.7e- 02)

T

pfsArm
= (x=535.49, 0=2.02)

calExp
= (x=535.23, 0=1.96)
w— Residual*s
== Trace

Piiu

530
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Y=245 (dx=3.5e-02, do=6.5e-02)

f=1878, X=536.2

Y=491 (dx=8.7e-02, do=5.7e-02)

pfsArm T pfsArm T
= (x=534.62, 0=1.14) 1 = (x=535.83, 0=1.14) 1
calExp 1 calExp 1
= (x=534.65, 0=1.20) - = (x=535.92, 0=1.20)
s Residual*5 s Residual*5

= Trace

Y=1228 (dx=1.7e-02, do=-1.2e-02)

1
Y=1473 (dx=1.6e-02, do=-3.1e-02)

-1 pfsArm I pfsArm I
= (x=537.93, 0=1.15) 1 = (x=538.32,0=1.13) 1
calExp 1 calExp 1
= (x=537.95, 0=1.14) = (x=538.33, 0=1.10)
| == Residual*5 m— Residual*5
= Trace

i Trace

mm= Residual*5
= == Trace

1 1
Y=2210 (dx=-3.9e-02, do=9.0e-03) Y=2456 (dx=-4.8e-02, do=4.0e-04)
pfsArm I pfsArm I
= (x=538.36, 0=1.14) 1 = (x=538.07, 0=1.14) 1
— calExp 1  calExp 1
(x=538.32, 0=1.15) (x=538.02, 0=1.14)

m— Residual*5
w— Trace

1
Y=3193 (dx=5.0e-03, do=-2.0e-02) Y=3439 (dx=1.4e-03, do=9.2e-03)
T pfsArm pfsArm T
1 = (x=536.06, 0=1.14) | = (x=534.87, 0=1.15) 1
T | = ff‘:Esxge 07, 0=1.12) = fxaI:E;&.m, 0=1.16) 1

mm—Residual*5
= Trace

m— Residual*5
| Trace

520 530 540 550

520 530 540 550

Y=736 (dx=8.0e-02, do=3.0e-03)

pfsArm T
= (x=536.75, 0=1.14) 1
calExp

= (x=536.83, 0=1.14)
]| Residual*s
== Trace

_| = (x=537.46,0=1.13) 1

Y=1719 (dx=-2.9e-02, do=-1.8e-02)

- pfsArm T
= (x=538.48, 0=1.13) 1
calExp 1
= (x=538.45, 0=1.11)
m— Residual*5
= Trace

Y=2702 (dx=-3.5e-02, do=-1.1e-02)

pfsArm T
- == (x=537.57, 0=1.14) 1

calExp 1
(x=537.54, 0=1.13)

m—— Residual*5

= Trace

|
Y=3684 (dx=2.5e-02, do=1.8e-02)
T
= FxfiAsTa.u,u:lJS) 1
calExp |
(x=533.49, 0=1.16)

m—— Residual*5
= == Trace

| == Trace

Y=982 (dx=1.8e-02, do=-1.9e-03)

pfsArm T

calExp 1
= (x=537.48, 0=1.13)

w— Residual*s

== Trace

1
Y=1965 (dx=-2.0e-02, do=9.9e-03)
T
= ?:fsrgt‘z.w, 0=113) 1
_ calExp 1
(x=538.47, 0=1.14)

m—— Residual*5

Y=2947 (dx=-1.0e-03, do=-1.4e-02)
T
= ?:iirarﬂs.ss, 0=1.15) 1

calExp 1
m—(x=536.88, 0=1.13)

m— Residual*5
= Trace

520 530 540

Y=3930 (dx=3.2e-02, do=5.9e-02)
T
= E):S:A_'xréﬂl.ﬁl,uzli‘lb 1
calExp |
(x=531.64, 0=1.20)

m— Residual*5
= Trace

520 530 540



f=1939, X=157.0
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Y=245 (dx=1.9e-02, do=9.8e-02)

f=1939, X=157.0

Y=491 (dx=1.8e-01, do=6.1e-02)

T pfsArm
1 = (x=154.66, 0=1.14)

1 calExp
= (x=154.68, 0=1.24)

w— Residual*5
== Trace

T pfsArm
1 = (x=156.49, 0=1.14)
calExp
= (x=156.67, 0=1.20)

e Residual*s

= Trace

Y=1228 (dx=1.4e-01, do=-4.5e-03)

Y=1473 (dx=8.5e-02, do=-2.9e-02)

e Residual*5
= Trace

T fsArm T pfsArm

T 1 = (x=159.69, 0=1.14) 1 = (x=160.21, 0=1.15)
calExp 1 calExp

= (x=159.83, 0=1.14) = (x=160.30, 0=1.12)

e Residual*5
= Trace

Y=2210 (dx=5.8e-02, do=4.1e-03)

Y=2456 (dx=2.1e-02, do=-9.3e-03)

e Residual*5
= Trace

pfsArm pfsArm
1 = (x=160.24, 0=1.15) 1 = (x=159.74, 0=1.15)
1 calExp 1 calExp
= (x=160.30, 0=1.15) = (x=159.76, 0=1.14)

e Residual*5
= Trace

= Residual*5
== Trace

1
Y=3193 (dx=6.4e-02, do=1.5e-03) Y=3439 (dx=1.0e-01, do=2.9e-02)
T
1 = F;iﬁ';wa, 0=1.16) | - Fﬁiﬁ'&gg, 0=1.14)
| calExp | e calExp
(x=156.79, 0=1.16) (x=155.09, 0=1.17)

= Residual*5
w— Trace

140 150 160 170

140 150 160 170

Y=736 (dx=1.7e-01, do=-1.1e-02)

Y=982 (dx=8.5e-02, do=3.4e-02)

T pfsArm
| ™ (x=157.86,0=114)
1 calExp
= (x=158.03, 0=1.13)
s Residual*s
== Trace

T pfsArm
| =™ (x=158.91,0=114)
1 calExp
= (x=159.00, 0=1.18)
e Residual*5
== Trace

Y=1719 (dx=6.7e-02, do=-2.7e-02)

I pfsArm
1 = (x=160.44, 0=1.14)
1 calExp
= (x=160.51, 0=1.12)
= Residual*5

i Trace

1
Y=1965 (dx=7.5e-02, do=-2.7e-03)
T
1 = ?:iAlrgl‘]AS,a:I.lM
1 _ calExp
(x=160.53, 0=1.14)
e Residual*s

w— Trace

Y=2702 (dx=6.3e-02, do=-1.3e-02)

Y=2947 (dx=8.3e-02, do=-2.0e-02)

pfsArm

| ™ (x=159.00, 0=1.14)
1 calExp

= (x=159.06, 0=1.13)

= Residual*5
w— Trace

pfsArm

| ™ (x=158.01,0=1.14)
1 calExp

m—(x=158.09, 0=1.12)

e Residual*5
== Trace

Y=3684 (dx=9.9e-02, do=5.6e-02)

Y=3930 (dx=1.2e-01, do=1.2e-01)

pfsArm

| = (x=152.83,0=1.15)
| calExp
— (x=152.93, 0=121)

me Residual*5
w— Trace

pfsArm

1 = (x=150.13, 0=1.17)
calExp

= (x=150.25, 0=1.28)

= Residual*5

- Trace

140 150 160

140 150 160




